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1. ���������	�M�=�
���2���D�1�"*�D�����
���L���Q

A) �N
� B) "���3�/

C) 8���5�D D) $�R�<���D

2. ����5�=&����
2�L���Q

A) 1947 G.S��15 B) 1956 
&2N/�1

C) 1947 
&2N/�1 D) 1956 G.S��15

3. ������"#�8�(��T��3���"�	�����L���Q

A) $

�	� B) %	
�	�

C) ��U8�$� D) ���(���'!7

4. ����B2V�
2����2�"��+�5�7�%A�������,���;�A�L���Q

A) ����&
W���2 B) �=�����2

C) %	�1� D) $
5�=2

5. ��������B@�/J�B������
	�3�G���;�A�L���Q

A) ���*32 B) G
5�D

C) �T'�/ D) ���D��1�	�

6. %W�:�S�:��/���B$32�(IST)  ��1�1�����6�L���Q

A) 82½
�  �	�M�=� B) 82½

� ��D1�

C) 0 � 8�$?���6 D) �W���(X��
�9���6

7. "��1�%W�3������"5	���,���8�(��T���L���Q

A) ���(���'2 B) ��3�

C) $��8�$� D) �1�:���U8�$�

8. 8����3/�����
��3�3����1�1���
���L���Q

A) 3$�
 B) (NY��(�

C) 
/Z� D) .2.
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9. ��"D5=3��������([8��(���'2��A�����L���Q

A) "�""� B) �.�&

C) ��$: D) $�4�

10. �/0'�(���"#��/��&��G���Q

A) G��8*: B) �����:

C) &�\��� D) &��B:

11. ,��2�B]��(W�B$�2�
	��&/^2�L���Q

A) 1587 B) 1875 C) 1857 D) 1578

12. B]�(W�%W�3�"	�8��	2��K�=�1�3���G���Q

A) $_+��N�<`�(�8� B) ;&4/
���"
4�=�

C) $4�\�.�O� D) =����a�b�
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A) &��������$�
�: B) B/��/�&A8�3����*�

C) $�4Z��
��;�� D) ����8�3��
&�=�;�

14. ��������c&�.`�(	�;��d�
	��V
2�L���Q

A) �T'�/ B) ����/ C) ��
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A) &�&B�32 B) 6

2

C) .��.�2 D) �T^�
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A) ������ B) �e�����

C) %��������� D) B_;
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�&�&��&��'��Z�^�/�G���Q
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A) B�������B�� B) "�������B��

C) N�
�&
�
����E
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�3$2 D) ""BN/�
�3$2

25. c%:���d����3�(��&�&��2��D���3�(.�1��Be����G���Q

A) "$.�
�B� B) %N�
�N���

C) b�4�3�: D) 4�3�:B�k�

26. �	��3�"	��W��)��N���B�2.��%��4�B2

A) "�"
 B) $�4Z����
�

C) ""$1��""	B: D) 4�:B�������

27. ""�
� �̂�B���/0�F�$
�
�3�Bb�B�3�����&��"	�(�&/�
��$6
����

"����&�3���L���Q

A) N�
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�3�����$�:�%:��:���(X����G���Q

A) ��������;([(�B��� B) &���&���.���

C) '9/�3���'/Z D) ������������";���o�7�
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C) ���N/ D) N�N/

30. ���N/����2�"��	���$�2�L����Q

A) %q�2 B) ��:�%
�4�

C) B�b�B2 D) B�6�
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A) 2 B) 8 C) 18 D) 32
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C) �N���""B<� D) ���$J�

33. �
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'�(�s:�G���Q

A) ���N""=: B) ��#�3���
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C) 
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34. ;
��"#�B�([��L<&�2���	�����(����(.��"B�^�B���G���Q

A) �0 C B) C100 � C) C120 � D) C4 �

35. �;��
��$��*���������&/?��&��&�"#�'��3�3���"�W��Q

A) �$������B���32�.���"	"$3�<� B) ""��B���32�.���"	"$3�<�

C) �B���32��B�<<� D) �B���32�""N��/N��<�

36. ,���-������"#��&/�(���&�1����
��-��3�.�1���3���<��L�����Q

A) 
��*` B) ;�7

C) ;�7�"�/����
�(.�2 D) &�*�

37. B���
���
	1���-_/m(�&/�
2�L�����Q

A) 
��a�3�/b�^: B) 
��a�3�/b��^:

C) "�3�:�=�3��: D) %&�,��2��A

38. L<&�2�-3/�����
�
3�
� �
�(�!7�L���
�=�������"5	����Q

A) 
�
 B) ��&5� C) $M D) "& 

39. ,���(��&�����$�!�3���1���&��171��8��1�=&�������
� �����2

A) i/^�N
2 B) .����]��/^�N
2

C) t&�$N
2 D) ��W��N
2

40. ��(����
!����'(��&�"#�
�1!7��=�3�:�""B
��/� (�������2
�J	�7�-��3�.�1���+���L�����2�&�����$����%���� (��3�;

"5	���3���1�����Q

A) ��u��= B) �7(	�&3
<��&�����!7

C) .�$�����!7 D) %:(b�"=���&�����!7
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41. $
�^���"	��(��$�B�2�B26���(��Q

A) 23 �J2 B) 46 �J2 C) 22 �J2 D) 44 �J2

42. '�(��3$�3��$�3
��"��&�/���L����������=�3"5	����Q

A) �4�/*��7)/ B) ��B��7)/

C) �5��7)/ D) ������7)/

43. $
N�/�"N�*���1��.�/�:�(MBG) V����"�K�����L���;�A3�
����Q

A) ���D��1�	� B) $
5�=2 C) �J�/ D) &3
�	�

44. ��"D�"��	��&3���""&=B�����.2��A�����L���Q

A) �3���B� B) ��1:�����u� C) ����= D) "�9�5
�

45. c�
���(��$4���
2d�G���1���������Q

A) ��B2N/�1 B) L(����22

C) ;�""
�11 D) 
&2N/�14

46. ��"D�"��	��&3���&2'
�'2�B28&�)�;�&�3�
2�L���Q

A) �]�v B) B�24&�
:����!�

C) &�3�	� D) $
N�/�"&����

47. ‘DOTS’ ��������B��B2&�E�
2�L������.�����f1� �����Q

A) ������3� B) ��N��

C) �32 D) 4��$�b�
�3

48. ������"
�
�^�����/1��71��-��4��$A�����L���Q

A) %�&����2 B) ��5�=

C) ""B
#��&�
� D) G
$�	��)�


49. �l��"
����B���"#�B�E�����������(��Q

A) 9-11 mg/100 ml B) 90-110 mg/100 ml

C) 80-100 mg/100 ml D) 15-17 mg/100 ml

50. 8������/0!7�%A�"��&���@�7�G$�'3����-�����5�1��
�4�/�$�`�L���Q

A) .�(Bw�: B) "B(��<�:

C) ���"
(b�: D) "(.
�:
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51. (–15)3 + (12)3 + (3)3 "#�&�
"3W��Q

A) – 1620 B) 0 C) –360 D) 1430

52. ,���(������������8�^3���MALE������7512����2�HAM �����216

���2�������"�3C���1�����%�������3���HALL�������!"
������

"�K�2�Q

A) 6155 B) 6551 C) 5516 D) 5615

53. 200 
�2�500 
�2�%	x��3 "��+��4��1��@�7�'�X2�1�&�����(��B26��7

-+��Q

A) 102 B) 104 C) 100 D) 99

54. 75 ���x��,���B�E
2�&�<�5�7�&�!�3�&�
��"��
�8'�$�
$�3�

��*�"39���&�!�3�&�
"3(��Q

A) 40 B) 75 C) 45 D) 50

55. ,���B26�3�"	�
�

�
�����B26�3�"	�

2
1
��
1�7�20 ��=&�����%_�B26�3�"	

70% �(�3����Q

A) 120 B) 84 C) 80 D) 94

56. 9 – 5 ÷(8 – 3) ×  2 + 6 "#�&�
"3(��Q

A) 13 B) 4 C)
�

�
D) %&"3���$A

57. x = ya, y = zb, z = xc G3���abc 3�"	�&�
"3W��Q

A) 0 B) 1 C)
�

�
D) %&"3���$A

58. �+��B26������,��$"���"#�
4
1
�+�$"��B26��3�	����*�3�5�7

�+�$"��B26�3�"	� $����*����*��� ,��$"��B26�3�2� �+�$"�

B26�3�2��Z�
� ��2'NO2��(��Q

A) 8 : 1 B) 1 : 4 C) 4 :1 D) 1 :8
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59. 1, 4, 7, 8, 13, 12, 9, ________ �	���B26��L�����Q

A) 22 B) 18 C) 16 D) 20

60. ,���B$������
�2F�B$8�;(��������
�2�,�����<�&�����B$����

��"#�&��/���"#�
��2� 212 �cm�G"�9���B$8�;�(��������"#

��5�&���(�3����Q

A) 324 B) 364

C) 264 D) 232

61. G
[���"#���$BV
���
�����	�M��=�*��
	1�&�:���	!��� 8 km

�D�M�5�7��3�7� °90 %	��x������M�� 6 km 
	����%�5�7�G
[�

�"#���$BV
���
���2��(����
��
����Q

A) 14 km "�1� B) 2 km &	1�

C) 14 km &	1� D) 10 km "�1�

62. 12.20�
�� ,��� �a�1�"
�$��1�/�B���1�2� $�
�*��B���1�2�%	3�
� 

�����&���(�3�3���1�2�Q

A) °120 B) °10

C)
°

2
1108 D) °110

63. ,���������D���3&����300���/�G`��*����2�700���/�"�`��*��

��$�����G`��*������40%�����2�"�`��*������60%������2�����3��

&�;3�)�"&9�������3����(��'�$�
2���*��7����<��Q

A) 54% B) 42% C) 46% D) 52%

64. 2004�;
�&���1�&��D�D���G3���2010 ;
�&���1�GD��3�"
�L��

��&B$����Q

A) "& � B) N�E:

C) '
� D) &��D2
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65. &�/^��$�3����*��
�'���1�1���,���N�9���=���,�������
�����

1�����6 &/^2��D�M������'�E�)�5�7�%���6,500 ����G3��3���+��

����	�� 2 &/^2��D�M�� �
�1�3�5�7�%��� 7,800 ����G3��3���+��

�9���10 &/^2��D�M��%����(�����3���2�Q

A) 9,100 B) 9,260

C) 9,360 D) 9,200

66. LOGIC : BHFNK : : CLERK : ?

A) BMFSL B) BKDQJ

C) ENGTM D) JQDKB

67. ‘A’ 3�2�‘B’ 3�2���	� 18 ��&B!7�"��+����/1���,����;�
���‘B’ 3�2�‘C’ 3�2

��	�� 24���&B!7�"��+�2� ‘A’ 3�2� ‘C’ 3�2���	�� 36� ��&B!7�"��+�2

��/1�2���9��F�‘C’ ,<x��%_��;�
����/1�:��(����&B!7��	�1�2�Q

A) 144 B) 72 C) 36 D) 108

68. ��"D������1���B26������,<3�"
��"+����

101, 103, 105, 107, 109

A) 103 B) 105 C) 107 D) 109

69. ,�����/F�3�(�3�"	�G���
3
1
�8�.2�10 km/hr��&.�3�
�2��	���

3
1
�8�.2

20 km/hr �&.�3�
�2��&B�
�
3
1
�8�.2�60 km/hr��&.�3�
�2�Be��1����

3�(�3�"	�'��'����&.���(�3����Q

A) 30 km/hr B) 45 km/hr

C) 40 km/hr D) 18 km/hr

70. ,������&���$�:@���
����‘A’�3�"	�V�
2�15-�2$��2F�������
����30-�2�$��2

G����G����&���G"���(����/�-+��Q

A) 44 B) 45 C) 46 D) 43
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71. He has been working there  _________ 1998.

A) from B) till C) since D) before

72. He is married

A) my sister B) to my sister

C) with my sister D) none of these

73. Hardly ___________ see the picture.

A) I am B) can’t I C) can I D) I could

74. You will not pass unless

A) You do not work hard B) You work hard

C) You will work hard D) You will not work hard

75. They moved to a bigger house __________ they might live more comfortably.

A) so that B) in case C) as if D) as long as

76.  If Rahul played well

A) He will win the match B) He wins the match

C) He would win the match D) He would have won the match

77. ____________ the weather was bad, I arrived on time.

A) Though B) Although C) In case D) In spite of

78. You will tell me how you trained your dog,

A) Did  you ? B) Will you ?

C) Don’t you ? D) Won’t you ?

79. ‘Affable’ means

A) Friendly B) Helpful C) Cheerful D) Disgusting

80. The opposite of ‘disseminate’ is

A) Broadcast B) Withhold C) Convey D) Agree
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81. One who is neither intelligent nor dull is called

A) Genius B) Veteran

C) Mediocre D) Meticulous

82. What is a ‘black sheep’ ?

A) A person who looks after a sheep

B) A goat black in colour

C) An intelligent person

D) A disreputable member of a family or a group

83. The pen is mightier than

A) A paper B) The sword C) Wealth D) A speech

84. The doctor  gave him an injection to ___________ the temperature.

A) put down B) get down C) bring down D) pull down

85. The new manager has  _____________ many changes.

A) brought about B) brought round C) brought up D) brought off

86. Which of the following is grammatically correct ?

A) I have gone to Delhi yesterday B) I has gone to Delhi yesterday

C) I went to Delhi yesterday D) I have went to Delhi yesterday

87. Choose the correct word

A) Contagious B) Contaieus

C) Contegious D) Contagiaus

88. Write the passive voice of ‘Brutus stabbed Caesar’

A) Caesar is stabbed by Brutus B) Caesar was stabbed by Brutus

C) Caesar has stabbed by Brutus D) Caesar had stabbed by Brutus

89. Which  one of the following is the opposite of the word ‘ demolish’ ?

A) Devastate B) Raze C) Erect D) Ruin

90. I am always ______ trouble with my neighbours.

A) has B) had C) being D) having
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91. c$
�^�"
d�y�%&�"	3� �&�8l��3���Q

A) B2�3�;�� B) -�P'�� C) (���(.�4�� D) GE����

92. c�J�/d�y�BO��3���Q

A) G��'BO� B) �
��BO� C) �]��]BO� D) G.$BO�

93. '��3�3�(��3�.�$���Q

A) $(W���B��.��$�3��(�6����)� B) $(W���B[�.��E$�3��(�6����)�

C) $(W���B
�.�E$�3��(�6����)� D) $(W���B��.�E$�3��(�6����)�

94. '��3�3����$���Q

A) �Wz�(�2 B) �W{�(�2 C) �W'�|�(�2 D) �W|�(�2

95. c���2d�y�'��3�3��/0�$���Q

A) .�4 B) �J�	� C) .�4 D) ��	

96. c$��2��2.�N�E$�A���,������$���3����d�y�c$M��d�����
�&
���,��
�I���(���"#�&�1������&��G��"	�Q

A) N�P� B) &�$
 C) B/��/;� D) 
�


97. c-=�N�d�G��"	���
���
�$$����Q
A) ����B�����*��T �̂�: B) &���$�E&:�
�3/

C) �2��"����.���
�I:�
�3/ D) �2��G/��
�3/

98. 2015 }~"
�&3
�/��&�/����
	�3�����Q

A) B�8�^��([: B) B�.���$��� C) &�;3
��� D) "���G/��$��

��&�&/�
2�"�K���

99. 
�=M�$	���
x��,��1
�2�B�4T��171���M$�+���A�

A) A heavy purse gives to a light heart.
B) A full purse never lacks friends.
C) An Empty purse frightens away friends.
D) Wealth makes many friends; poverty drives them all away.

100. 
A���*����:�
�+����3�"	�
��2���=x�2�
A) Friendship multiply joys and divide griefs.
B) The road to a friend’s house is never long.
C) A mercy companion on the road is as good as nag.
D) A good friend shortens the longest road.

_______________
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Space for Rough Work
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